Potencias de 10 (F)

331000

5110

72 <1000

79 1000

610

48 =100

71000

261000

671000

7100

Calcule los siguientes cocientes.

710

36100

57=10

911000

8710

151000

821000

92 =-1000

831000

6+ 100
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Potencias de 10 (F) Respuestas

33+ 1000
0,033
51-+10
5,1
72 +1000
0,072
79 +1000
0,079
610
0,6
48 =100
0,48
71000
0,007
26 + 1000
0,026
67+ 1000
0,067
7-+100
0,07

Calcule los siguientes cocientes.

7+10
0,7
36+ 100
0,36
57+10
5,7
91 =+ 1000
0,091
87+ 10
8,7
151000
0,015
82+ 1000
0,082
92 -+ 1000
0,092
83+ 1000
0,083
6+ 100
0,06
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